
www.fireindustrysupplies.com.auwww.fireindustrysupplies.com.au

300psi  flanged end swing check valves 

  �design standard: AWWA C508

  nominalpressure: 300psi

  flange standard: asme/ansi b16.1 class 125 or asme/ ansi 
b16.42 class 150 or bs en 1092-2 PN16 or gb/t9113.1

  epoxy resin coating both inside and outside the body

  table e drilling

 
d i m e n s i o n  -  w e i g h t s  -  q u a n t i t i e s

S i z e Dn L D c n-d h

4” 100 292 229 190.5 8-Ø19 172

6” 152 356 279 241.5 8-Ø22 233

8” 204 495 343 298.5 8-Ø22 301

	 P A R T S P E C I F I C A T I O N

1 body astm A536 65-45-12

2 bonnet astm A536 65-45-12

3 seat ring astm A148 c95400

4 disc astm A536 65-45-12

5 rocker arm astm A536 65-45-12

6 baffle plate astm A148 c95400

7 middle plate astm A276 SS304

8 pinned stem astm A276 SS304

9 bracket screw astm A351 SS304

10 plug astm A148 c95400

11 gasket astm A276 SS304

12 o-ring (large) astm D2000 Epdm

13 o-ring (for bracket screw) astm D2000 Epdm

14 o-ring (for mid stem) astm D2000 Epdm

15 o-ring (for mid stem small) astm D2000 Epdm

16 bronze bushing powder metallurgy

17 ss304 outer hexagon nut M12 astm A276 SS304

18 ss304 outer hexagon nut M12 astm A276 SS304

19 SS304 cotter pin 4x55 astm A276 SS304

20 “m12x60 zinc outer hexagon 
bolt (half thread)”

astm A194 2h steel

21 “m12x60 zinc outer hexagon 
bolt (full thread)”

astm A194 2h steel

22 m12 zinc outer hexagon nut astm A194 2h steel

M A T E R I A L  L I S T 

F C V - 1 0 0   F C V - 2 0 0

s w i n g  c h e c k  v a l v e

Section 1 - Page  5Section 1 - Pa         


